
 

 

Calculate the glomerular filtration rate (creatinine clearance) and determine the stage of chronic kidney disease in 
the following patients: 

 

Woman 

40 years old 

body weight – 63 kg 

serum creatinine – 70 mcmol/l 

Man 

60 years old 

body weight – 70 kg 

serum creatinine – 400 mcmol/l 

 
Cockcroft-Gault Equations: 

GFR (ml/min) = 
(140 — age (years))× body weight (kg) 

GFR (ml/min) = 
(140 — age (years))× body weight (kg) 

×1,2 
serum creatinine (mcmol/l) serum creatinine (mcmol/l) 

 



 


